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How does  the - gradual replacexjn’

3. (@ v ) . Discuss the algorithm of a double- _,
inventory model overcome the pra ’ ﬂ.i ‘sampling plan. - 5
disadvaritage of a srmple ot ’
formula? 'Examine the data gwen Dbelow and

* (b) Daily demand for a product is normall hl?"éomp i UCL and LCL of a mean
e O, S chart and range ‘chart from the data 9
distributed with a mean of 40 units an e '
a standard deviation of 6. Supply i \Sample | HOl‘:ser'tamh‘fteﬁs oW, X
certain with a lead time of 4 days. - No. R |
procurement cost of an order is Rs 228 1 49 V| T meel
and carrying cost is 60% of unit prlce 0 ok e
Rs 6. A service level of 90% is requlr 3 i e 30 et 22 ‘
for customers who place order dur ,«’7 38 o Al
the reorder period (300 working da)i& e 55 mpldag Bhiosplsnkorg)
Determine the operating doctrine. [For 5 26 42 37 .88 31
_ service level of 90%, Z =1-28] p 6 37 29 31 45 28
4. From the information given below, evaluat i S
whether Thomson algorithm can be apphe d. i ,Given : .
to the three- machine problem . For : N=6, Ay =0-483, D3 =0,D4 =2-004
Name of Time in " Time in - Time ir : N=5, A, =‘0-.577, D; =0,D, =2-114
Task Machine 1 Machine 2 Ma‘cﬂin . 50 units of finished product A are required
Minslegy a1 oMBS) iz (Mingl} _in the 5th week and another 50 units are
4 I e requlred in the 8th week. Product A has a
B A h R ' ~ lead time of 1 week and there are 50 units
& ikl 7 ~ available in hand. Product A has two sub-
2 16 A0 ol L9 ; i ~ components—B with a lead time of 2 weeks
2 201! dipo 9- X - and C with a lead time of 3 weeks. 2 units of
,, B and 6 units of C are required for 1 unit of
the sequence of tasks and 1d1e tunes 1n ea h - A, There are 120 units of B and 150 units of
of the machmes T Vs Wil e i C available in hand. 1 unit of subcomponent
L U . ;0N f requires '8 units of another sub- /
1«2A-f4.00l1297A R - ( Contin 100/1297A 4 - ( Turn Over )






